BLOOD RELATION CONCEPT
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@, Q and R are [sisters S is the brother of T and\T is the daughter of Q.SECM is P
relatedto S ?
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EU are married couple. X and Y are brothers. X is the brother of T.(How is Y related

toU? -

/ :

%other -in-law == . s 'S
(b) Brother ‘Z) 31 N~ ) P ‘Rlﬁam/ )

(c) Cousin _ C-\+
(d) Niece +> M\ \7) ;

(e) None of these Pas|wiFe S
-




<R &1t a1 e & fr, aw a1 der §1 ey, iaw & far &
R=AIT & AFS & 471 § ey & wfaa?

e

4
@i\% has a brother AniI@iya is the son of Pritam. Aditya is Pritam’s father. In terms

of relationship, what is Anil of Aditya ? — -

A
(a) Son
J¥Grandson @

(c) Brother
(d) Grandfather
(e) None of these
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0 is husband of V.CIS the only grandson ofﬁgv\ho is wife of D and mother-in-law of

@HOW |sJ related to D? .D N T
( Nephew

(b) Cou.sln Eﬁt B
(c) Stc))rr\‘-m-law /_{ N L) L)--/ /%
(e) None of these % T :
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®is the paternal uncle) of E B, who is the daughter of C and C is the daughter-in-law of

S

L. Howis Krelated toL ?
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(a) Brother
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(d) Data inadequate
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G’s father is W’s sonCM is the paternal uncle of G and N is the brother of W.(How i is N
related to M ?
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(b) Nephew (_
(c) Cousin ("’) —>MN é%’\'dT\IO\J—
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@is father of C and X is son of B._E is brother of U If C is sister of X, how is B related
toE? g

(a) Daughter
(b) Brother-in-law
(c) Husband

A&H’Sister-in-law

(e) None of these
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D is the son of F while F and R are the sisters to one another. W is the mother of R. If S is the

son of W, which of the JJ_IJ_onng_sta:te.men:Ls.ls.mr.recP
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W is the brother of F. }“———7
S is the cousin of D. '/
Fand S are sisters

(d)'Sis the maternal uncle of D

(e) Ris the grandfather of D.
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is father of X. S is mother of Y. The sister of X an
[ definitely)not true?
/

((a) S is the mother of Z T3u5-
(b) X is the sister of Z

(¢} Y is the son of H. %
((d) S has one daughter.

(e) S is the wife of H»(:A/,\’
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Which of the following statements is
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CE_the father of R. But R is not his son. T is the daughter of R. F is the spouse of P. B is the
brother of R. D is the son_oﬂ“: G is the spouse of B. Y is the father of G.

———————

Who is the grandmother of D?
= grandm
(a) P
(b) R
AsbF
(d)Y
(e) None of these

@ho is the son o@
o

(b) R

(c)D

(d)T
(e) None of these
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Seven persons of three generations are in a family. There are two couples in the family. L is the
only child of X, who is grandfather of Z. A is sister in law of M, who is the daughter of J. G is
the only daughter of F.

How is J related to F?
(a) Mother

(b) Father in law

(c) Mother in law

(d) Father

(e) Can’t be determined

If H is the brother of X then, how J is related to H?
(a) Sister

(b) Sister in law

(c) Brother

(d) Mother in law

(e) None of these
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